
E
. 
B

A
ÁT

 P
H

Ö
Ô

N
G

 T
R

ÌN
H

 C
H

Ö
ÙA

 C
A

ÊN
. 

I.
 K

IE
ÁN

 T
H

Ö
ÙC

 C
A

ÀN
 N

H
Ô

Ù. 

1.
 D

a
ïn

g 
cô

 b
aû

n:
  

. 
A

0
A

B
A

B

≥
⎧

<
⇔

⎨
<

⎩
 

. 

2

A
0

A
B

B
0

A
B

⎧
≥

⎪
<

⇔
>

⎨ ⎪
<

⎩

 

. 
2

B
0

A
0

A
B

B
0

A
B

≥
⎧

≥
⎧

⎪
>

⇔
∨

⎨
⎨

<
>

⎪
⎩

⎩
 

. 
3

3
A

B
A

B
<

⇔
<

 

2.
 C

aù
c 

da
ïn

g
 k

h
aù

c:
  

Ñ
aë

t 
ñ

ie
àu

 k
ie

än
, n

a
ân

g
 c

aû
 2

 v
eá

 l
e

ân
 l

u
y

õ t
hö

øa
 t

ö
ô

ng
 ö

ùn
g

 ñ
e

å k
h

ö
û 

ca
ên

. l
ö

u
 y

ù ñ
ie

àu
 k

ie
än

 k
h

i 
lu

õy
 t

hö
øa

 b
aä

c 
ch

aü
n.

 

. Ñ
aë

t 
aå

n 
ph

u
ï. 

. C
aà

n
 n

h
ô

ù: 
 

+
 N

e
áu

 a
0

≥
 v

a
ø b

0
≥

, 
ta

 c
où

: 
2

2
a

b
a

b
>

⇔
>

 

+
 V

ô
ùi 

m
o

ïi 
a,

b
R

∈
, t

a
 c

o
ù: 

3
3

a
b

a
b

>
⇔

>
 

II
. C

A
ÙC

 V
Í 

D
U

Ï. 

V
í 

du
ï 1

: 
 

G
ia

ûi 
ba

át 
ph

öô
ng

 t
rì

nh
: 

2
2

2
x

3
x

2
x

4
x

3
3

x
5x

4
−

+
+

−
+

≥
−

+
 

(Ñ
H

 Q
u

o
ác 

G
ia

 T
P

H
C

M
 n

aê
m

 1
99

7)
. 

G
ia

ûi 

Ñ
ie

àu
 k

ie
än

 

2 2 2

x
3

x
2

0
x

1 
 

x
2

x
4

x
3

0
x

1 
 

x
3

 
x

4
 

x
4

 (
1)

x
1 

 
x

4
x

5x
4

0

⎧
−

+
≥

≤
∨

≥
⎧

⎪ ⎪
⎪

−
+

≥
⇔

≤
∨

≥
⇔

≤
∨

≥
⎨

⎨
⎪

⎪
≤

∨
≥

−
+

≥
⎩

⎪ ⎩

 

*x
4

:
≥

 T
a 

co
ù: 

2
2

2
x

3
x

2
x

4
x

3
2

x
5x

4
   

(2
)

−
+

+
−

+
≥

−
+

 

(x
1)

(x
2

)
(x

1)
(x

3)
2

(x
1)

(x
4

) 
  

(*
)

⇔
−

−
+

−
−

≥
−

−
 

x
2

x
3

2
x

4
   

(3
)

⇔
−

+
−

≥
−

 (
ch

ia
 2

 v
e

á c
ho

 
x

1
0

−
>

) 

vì
 

x
4

x
2

x
4

0
x

2
x

4
x

2
x

3
2

x
4

   
  

   
  

   
x

3
x

4
0

x
3

x
4

⎫
≥

⇒
−

>
−

≥
⇔

−
>

−
⎪
⇒

−
+

−
>

−
⎬

−
>

−
≥

⇔
−

>
−

⎪ ⎭

x
4

⇒
≥

 l
a

ø n
gh

ie
äm

 c
u

ûa
 (

3)
 

x
4

⇒
≥

la
ø n

gh
ie

äm
 c

uû
a 

(2
).

 

* 
x 

=
 1

: 
(2

) 
th

o
ûa

. 

* 
x 

<
 1

: 
(*

) 
2

x
3

x
2

4
x

⇔
−

+
−

≥
−

 (
4)

  

(c
hi

a
 2

 v
e

á (
*)

 c
ho

 
1

x
0

−
>

) 

V
ô

ùi 
x

1
<

⇒
 

0
2

x
4

x
2

x
4

x
2

x
3

x
2

4
x

0
3

x
4

x
3

x
4

x

⎫
<

−
<

−
⇒

−
<

−
⎪
⇒

−
+

−
<

−
⎬

<
−

<
−

⇒
−

<
−

⎪ ⎭
 

⇒
 (

4
) 

k
ho

ân
g 

th
oû

a 
⇒

 (
2)

 k
ho

ân
g 

th
o

ûa
. 

T
o

ùm
 l

a
ïi,

 n
gh

ie
äm

 c
u

ûa
 b

aá
t 

ph
öô

ng
 t

rì
nh

 c
h

o
 l

aø
: 

x
4

 
x

1
≥

∨
=

 

V
í 

du
ï 2

: 
 

T
ìm

 a
 ñ

e
å b

a
át 

ph
ö

ô
ng

 t
rì

nh
 :

 
x

x
1

a
−

−
>

 c
o

ù n
gh

ie
äm

 v
ô

ùi 
a 

la
ø t

ha
m

 

so
á d

ö
ôn

g.
 

(Ñ
H

 Y
 D

Ö
Ô

ÏC
 T

P
H

C
M

 n
a

êm
 1

9
96

).
 

G
ia

ûi 

x
x

1
a

−
−

>
  

Ñ
ie

àu
 k

ie
än

 
x

0
x

1
x

1
0

≥
⎧

⇔
≥

⎨
−

≥
⎩

 

Ñ
aë

t 
y

x
x

1
=

−
−

1
1

y
'

0,
   

x
1

2
x

2
x

1
⇒

=
−

<
∀

>
−

 

B
B

T
: 

 

V
ì 

x
x

x
1

li
m

y
li

m
(

x
x

1
)

li
m

0
x

x
1

→
+
∞

→
+
∞

→
+
∞

=
−

−
=

=
+

−
 

L
u
y
ệ

n
 t

h
i A

M
A

X



D
ö

ïa
 v

aø
o

 B
B

T
 ñ

e
å b

a
át 

ph
ö

ô
ng

 t
rì

nh
: 

x
x

1
a

−
−

>
 c

où
 n

gh
ie

äm
 

0
a

1
⇔

<
<

 

V
í 

du
ï 3

: 
 

G
ia

ûi 
ba

át 
ph

ö
ô

ng
 t

rì
nh

: 
2

2
(x

3)
x

4
x

9
−

+
≤

−
 

↑
(Ñ

H
 D

A
ÂN

 L
A

ÄP
 V

A
ÊN

 L
A

N
G

 n
aê

m
 1

9
97

).
 

G
ia

ûi 

T
a 

co
ù: 

2
2

(x
3)

x
4

x
9

−
+

≤
−

2
(x

3)
x

4
(x

3)
(x

3)
  

(1
)

⇔
−

+
≤

−
+

 

T
H

 1
: 

2
x

3
0

x
3

:(
1)

x
4

x
3

−
≥

⇔
≥

⇔
+

≤
+

 

2
2

x
4

x
6

x
9

⇔
+

≤
+

+
5

x
6

⇔
≥

−
   

  
(2

) 

K
e

át 
hô

ïp
 v

ô
ùi 

x
3

≥
 t

a 
ñ

öô
ïc:

 x
3

≥
 

T
H

 2
: 

x
3

0
x

3 
   

(3
)

−
≤

⇔
≤

 

2
(1

)
x

4
x

3
   

(4
)

⇔
+

≥
+

 

. N
e

áu
 x

3
0

x
3

+
≤

⇔
≤
−

 t
hì

 (
4)

 t
ho

ûa
 

x
3

∀
≤

−
   

 (
5)

 

. N
e

áu
 x

3
0

x
3

+
≥

⇔
≥

−
 t

hì
 (

4)
 

2
2

5
x

4
x

6
x

9
x

6
⇔

+
≥

+
+

⇔
≤

−
  (

6)
 

5
3

x
6

⇒
−

≤
≤

−
  

 (
7)

 

(5
) 

v
a

ø (
6)

 
5

x
6

⇒
≤

−
 

T
o

ùm
 l

a
ïi,

 n
g

hi
e

äm
 c

u
ûa

 b
aá

t 
ph

ö
ô

ng
 t

rì
nh

 l
a

ø: 
5

x
x

3
6

≤
−

∨
≥

 

V
í 

du
ï 4

: 
 

G
ia

ûi 
ba

át 
ph

ö
ô

ng
 t

rì
nh

: 

x
3

x
1

x
2

−
−

−
<

−
   

(1
) 

(T
rö

ô
øn

g 
T

H
 K

yõ
 T

hu
aä

t 
Y

 T
eá

 3
 n

a
êm

 1
99

7)
. 

G
ia

ûi 

Ñ
ie

àu
 k

ie
än

 

x
3

0

x
1

0
  

x
3

x
2

0

−
≥

⎧ ⎪
−

≥
⇔

≥
⎨ ⎪

−
≥

⎩

 

(1
)

x
3

x
1

x
2

⇔
−

<
−

+
−

 

x
3

x
1

x
2

2
(x

1)
(x

2
)

x
2

(x
1)

(x
2

) 
   

  
(2

)

⇔
−

<
−

+
−

+
−

−

⇔
−

<
−

−
 

(2
) 

th
o

ûa
 v

ô
ùi 

x
3

≥
 

V
aä

y
 n

gh
ie

äm
 b

aá
t 

ph
ö

ô
ng

 t
rì

nh
 l

aø
 x

3
≥

. 

V
í 

du
ï 5

: 
 

C
ho

 b
aá

t 
ph

ö
ôn

g 
tr

ìn
h:

 
2

2
2

(x
1)

m
x

x
2

4
+

+
≤

+
+

 

1.
 G

ia
ûi 

ba
át 

ph
ö

ô
ng

 t
rì

nh
 t

re
ân

 k
hi

 m
 =

 3
 

2.
 X

a
ùc 

ñ
òn

h 
th

a
m

 s
oá

 m
 ñ

e
å b

aá
t 

ph
ö

ô
ng

 t
rì

nh
 ñ

a
õ c

ho
 ñ

ö
ô

ïc 
th

o
ûa

 v
ô

ùi 
m

o
ïi 

x 

tr
e

ân
 ñ

o
aï

n 
[

]
0,

1
. 

(Ñ
H

 Q
uo

ác
 G

ia
 T

P
H

C
M

 n
aê

m
 1

99
7 

ñô
ït 

3,
 K

ho
ái 

A
).

 

G
ia

ûi 

1.
 

2
2

2
(x

1)
m

x
x

2
4

+
+

≤
+

+
  

(*
) 

V
ô

ùi 
m

 =
 3

: 
2

2
2

(*
)

(x
1)

3
x

x
2

4
⇔

+
+

≤
+

+
 

4
2

2
x

2
x

x
x

2
⇔

+
≤

+
  (

*
*)

 

. 
x 

<
 0

: 
(*

*)
 k

h
o

ân
g 

th
o

ûa
 ⇒

 b
aá

t 
ph

öô
ng

 t
rì

nh
 V

N
. 

. 
x 

=
 0

: 
(*

*)
 t

ho
ûa

. 

. 
x 

>
 0

: 
(*

*)
 

2
2

x
(x

2
)

x
2

⇔
+

≤
+

 

2
2

2
2

2
2

x
(x

2
)

x
2

x
(x

2)
1

⇔
+

≤
+

⇔
+

≤
 

4
2

2
x

2
x

1
0

0
x

2
1

⇔
+

−
≤

⇔
≤

≤
−

0
x

2
1

⇔
≤

≤
−

 

V
a

äy
 n

gh
ie

äm
 :

 0
x

2
1

≤
≤

−
 

2.
 X

aù
c 

ñ
òn

h 
m

 ñ
eå

 b
aá

t 
ph

öô
ng

 t
rì

nh
 c

ho
 t

ho
ûa

 
[

]
x

0,
1

∀
∈

 

2
2

2
(*

)
m

(x
1)

x
x

2
4

⇔
≤

−
+

+
+

+
 

4
2

2

2
2

2

m
x

2
x

x
x

2
3

m
x

(x
2

)
x

x
2

3
   

(*
*)

⇔
≤

−
−

+
+

+

⇔
≤

−
+

+
+

+
 

Ñ
aë

t 
2

t
x

x
2

=
+

 v
ô

ùi 
0

x
1

0
t

3
≤

≤
⇒

≤
≤

 
2

(*
*)

m
t

t
3

⇔
≤

−
+

+
 (

**
*)

 

Ñ
aë

t 
2

f(
t)

t
t

3,
=

−
+

+
 t

0,
3

⎡
⎤

∈
⎣

⎦
 ;

 
f

'(
t)

2
t

1,
⇒

=
−

+
 

1
f'

(t
)

0
t

2
=

⇔
=

 



B
B

T
: 

 

(*
) 

ñ
u

ùn
g 

[
]

x
0,

1
∀

∈
 t

hì
 (

**
**

) 
ñ

u
ùn

g 
t

0,
3

⎡
⎤

∀
∈

⎣
⎦

m
3

⇔
≤

. 

II
I.

 B
A

ØI 
T

A
ÄP

 Ñ
E

À N
G

H
Ò.

 

4.
1.

 C
ho

 b
a

át 
ph

ö
ô

ng
 t

rì
n

h:
 m

x
x

3
m

1
−

−
≤

+
 

1.
 G

ia
ûi 

ba
át 

ph
öô

ng
 t

rì
nh

 v
ô

ùi 
m

 =
 1

 

2.
 V

ô
ùi 

gi
aù

 t
rò

 n
a

øo
 c

u
ûa

 m
 t

hì
 b

aá
t 

ph
ö

ôn
g

 t
rì

nh
 c

où
 n

gh
ie

äm
. 

(Ñ
H

 H
U

ØN
G

 V
Ö

Ô
N

G
 K

H
O

ÁI 
A

 n
a

êm
  1

99
9)

. 

 4.
2.

 G
ia

ûi 
ba

át 
ph

ö
ô

ng
 t

rì
nh

: 
2

2
x

(x
4

)
x

4
x

(x
2

)
2

−
−

+
+

−
<

 

(Ñ
H

 Q
uo

ác 
G

ia
 T

P
H

C
M

 n
aê

m
 1

99
9

 Ñ
ô

ït 
1 

K
ho

ái 
D

).
 

 4.
3.

 Ñ
òn

h 
m

 ñ
e

å b
aá

t 
ph

ö
ô

ng
 t

rì
nh

: 
2

2
x

1
m

x
+

<
−

co
ù n

g
hi

eä
m

  (
1)

 

 4.
4.

 Ñ
òn

h 
m

 ñ
e

å b
aá

t 
ph

ö
ô

ng
 t

rì
nh

: 
2

4
(4

x
)(

2
x

)
x

2
x

m
18

−
−

+
≤

−
+

−
 

ng
hi

e
äm

 ñ
u

ùn
g 

vô
ùi 

m
o

ïi 
[

]
x

2,
4

∈
−

. 

 4.
5.

 G
ia

ûi 
ba

át 
ph

ö
ô

ng
 t

rì
nh

: 
x

2
3

x
5

2
x

+
−

−
<

−
 

(Ñ
H

 T
H

U
ÛY

 L
Ô

ÏI 
n

aê
m

 2
00

1
).

 

 4.
6.

 G
ia

ûi 
ba

át 
ph

ö
ô

ng
 t

rì
nh

: 
 

2
2

1
1

2
x

x
x

x
x

+
+

−
≥

 

(Ñ
H

 A
N

 G
IA

N
G

 -
 K

H
O

ÁI 
A

 n
aê

m
 2

00
1

).
 

 4.
7.

 G
ia

ûi 
ba

át 
ph

ö
ô

ng
 t

rì
nh

: 
x

3
2

x
8

7
x

+
≥

−
+

−
 

(Ñ
H

 N
go

aï
i 

T
hö

ô
ng

 K
ho

ái 
A

 n
aê

m
 2

00
1)

 

H
Ö

Ô
ÙN

G
 D

A
ÃN

 V
A

Ø G
IA

ÛI 
T

O
ÙM

 T
A

ÉT
 

4.
1.

  

1.
 m

x
x

3
m

1 
  

(1
)

−
−

≤
+

 

V
ô

ùi 
m

 =
 1

: 
(1

)
x

x
3

2
⇔

−
−

≤
 

2
x

2
x

3
x

5x
7

0
 V

N
x

3
x

3

⎧
⎧

−
≤

−
−

+
≤

⎪
⎪

⇔
⇔

⎨
⎨

≥
≥

⎪
⎪

⎩
⎩

 

 2.
 (

1)
m

x
m

1
x

3
⇔

−
−

≤
−

 

Ñ
aë

t 
y

f(
x

)
m

x
m

1
=

=
−

−
 

la
ø ñ

ö
ô

øn
g 

th
a

ún
g 

(
)

∆
 

qu
ay

 q
u

an
h 

  

ñ
ie

åm
 I

 (
1

, -
1)

. 

V
e

õ ñ
o

à t
hò

 h
a

øm
 

y
x

3
=

−
 

x
3

y
0

=
⇒

=
 

x
4

y
1

=
⇒

=
 

x
7

y
2

=
⇒

=
 

⇒
 ñ

o
à t

hò
 (

C
) 

cu
ûa

 y
x

3
=

−
 n

hö
 h

ìn
h 

ve
õ. 

K
hi

 ñ
öô

øn
g 

th
a

ún
g 

(
)

∆
: 

y
 =

 m
x 

- 
m

 -
 1

 t
ie

áp
 x

u
ùc 

vô
ùi 

ñ
o

à t
hò

 (
C

) 
ph

ö
ô

ng
 

tr
ìn

h 
ho

aø
nh

 ñ
oä

 g
ia

o 
ñ

ie
åm

 c
uû

a 
(

)
∆

va
ø (

C
).

 

2

x
3

m
x

m
1

x
3

(m
x

m
1)

x
3

≥
⎧ ⎪

−
−

=
−

⇔
⎨

−
−

=
−

⎪ ⎩
 

2
2

2
2

x
3

m
x

(2
m

2
m

1)
x

m
2

m
4

0

≥
⎧ ⎪

⇔
⎨

−
+

+
+

+
+

=
⎪ ⎩

 

2
2

2
2

2

(2
m

2
m

1)
4

m
(m

2
m

4
)

  
8m

4
m

1

∆
=

+
+

−
+

+

=
−

−
 

K
hi

(
)

∆
ti

eá
p 

xu
ùc 

vô
ùi 

(C
) 

1
3

0
m

(m
0

)
4+

⇔
∆

=
⇔

=
>

 

⇒
 h

eä
 s

o
á g

o
ùc 

cu
ûa

 
1

(
)

∆
 t

ie
áp

 x
u

ùc 
vô

ùi 
(C

) 
la

ø 
1

3
m

4+
=

. 



⇒
 B

aá
t 

ph
ö

ô
ng

 t
rì

nh
 c

o
ù n

g
hi

eä
m

 k
h

i 
1

3
m

4+
<

. 

 4.
2.

 
2

2
x

(x
4

)
x

4
x

(x
2

)
2

−
−

+
+

−
<

  
(1

) 
Ñ

ie
àu

 k
ie

än
 

2
x

4
x

0
0

x
4

−
+

≥
⇔

≤
≤

 

Ñ
aë

t 
2

t
x

4
x

=
−

+
 

  
(t

0
)

≥
. 

(1
)

3
2

3
2

t
t

4
2

t
t

2
0

⇔
−

−
+

<
⇔

+
−

>
 

2
x

4
x

1
0

2
3

x
2

3
⇔

−
+

<
⇔

−
<

<
+

 

 4.
3.

 
2

2
x

1
m

x
   

(1
)

+
<

−
 

Ñ
aë

t 
2

f(
x

)
2

x
1

x
,

=
+

+
 x

R
,

∈
 

2

2
2

2
x

2
x

2
x

1
f

'(
x

)
1

2
x

1
2

x
1

+
+

=
+

=
+

+
 

2
f(

x
)

0
2

x
1

2
x

=
⇔

+
=

−
 

2
2

x
0

2
x

0
2

2
x

1
4

x
x

2

≤
⎧

−
≥

⎧ ⎪
⎪

⇔
⇔

⎨
⎨

+
=

=
−

⎪
⎪

⎩
⎩

 

2
2

f
2

2

⎛
⎞

⇒
−

=
⎜

⎟
⎜

⎟
⎝

⎠
 

2
x

x
x

li
m

f(
x

)
li

m
(

2
x

1
x

)
li

m
(

2
x

x
)

→
∞

→
∞

→
∞

=
+

+
=

+
 

x
x

li
m

f(
x

)
li

m
(

2
1)

x
→

+
∞

→
+
∞

=
+

=
+
∞

 

x
x

li
m

f(
x

)
li

m
(1

2
)x

→
−
∞

→
−
∞

=
−

=
+
∞

 

B
B

T
: 

 

⇒
 P

hö
ô

ng
 t

rì
nh

 c
o

ù n
g

hi
e

äm
 

2
m

2
⇔

>
. 

 4.
4.

 Ñ
aë

t 
2

t
(4

x
)(

2
x

)
x

2
x

8
=

−
+

=
−

+
+

 

' x
2

x
1

t
x

2
x

8

−
+

=
−

+
+

,  
' xt

0
x

1
=

⇔
=

 

B
B

T
: 

 

P
hö

ôn
g 

tr
ìn

h 
ch

o
 

2
f(

t)
t

4
t

10
m

⇔
=

−
+

≤
 

f
'(

t)
2

t
4,

=
−

 f
'(

t)
0

t
2

=
⇔

=
 (

vô
ùi 

[
]

t
0,

3
∈

 

B
B

T
: 

 
m

m
ax

f(
t)

10
⇒

≥
=

 

 4.
5.

 
x

2
3

x
5

2
x

+
−

−
<

−
  (

1)
 

Ñ
ie

àu
 k

ie
än

 
5

2
x

2
−

≤
≤

 

(1
)

x
2

5
2

x
3

x
x

2
5

2
x

3
x

2
(5

2
x

)(
3

x
)

⇔
+

<
−

+
−

⇔
+

<
−

+
−

+
−

−

2
2

x
3

2
x

11
x

15
⇔

−
<

−
+

 (
*)

 T
a

 n
ha

än
 t

ha
áy

 b
a

át 
ñ

aú
n

g 
th

ö
ùc 

ñu
ùn

g 
vô

ùi 

3
x

2,
2

⎡
⎤

∀
∈

− ⎢
⎥

⎣
⎦

 v
ô

ùi 
3

5
x

:
2

2
≤

≤
H

ai
 v

e
á c

u
ûa

 (
*)

 ñ
e

àu
 k

ho
ân

g 
aâm

, n
e

ân
 b

ìn
h 

ph
ö

ô
ng

 2
 v

e
á: 

   



2
2

4
x

12
x

9
2

x
11

x
15

−
+

<
−

+
2

3
2

x
x

6
0

x
2

2
⇔

−
−

<
⇔

−
<

<
 

V
a

äy
 b

aá
t 

ñ
a

ún
g 

th
ö

ùc 
ch

o
 

3
2

x
2

3
5

2
x

2
x

2
2

3
x

2
2

⎡ −
≤

<
⎢ ⎢ ⎧ ⎢

⇔
⇔

−
≤

≤
≤

≤
⎪ ⎢ ⎪ ⎢ ⎨ ⎢ ⎪
−

<
<

⎢ ⎪ ⎩ ⎣

 

 4.
6.

 Ñ
ie

àu
 k

ie
än

 
3

2
2

1
x

1
x

0
0

x
1

x
x

−
−

≥
⇔

≥
⇔

≥
 

B
a

át 
ñ

aú
ng

 t
hö

ùc 
3

3
x

1
x

1
2

⇔
+

+
−

≥
 

3
3

6
6

3
x

1
x

1
2

x
1

4
x

1
2

x
⇔

+
+

−
+

−
≥

⇔
−

≥
−

   
(*

) 

B
a

át 
ñ

aú
ng

 t
hö

ùc 
(*

) 
ñ

u
ùn

g 
3

x
2

∀
≥

   
(1

) 

vô
ùi 

3
1

x
2

≤
<

 t
hì

 (
*)

 
6

3
6

x
1

4
4

x
x

⇔
−

≥
−

+
 

3
3

3
5

5
x

x
2

4
4

⇔
≥

⇒
≤

<
   

(2
) 

(1
) 

v
aø

 (
2)

 
3

5
x

4
⇒

≥
 

 4.
7.

 
x

3
2

x
8

7
x

+
≥

−
+

−
  (

1)
 Ñ

ie
àu

 k
ie

än
 4

x
7

≤
≤

  
(*

) 
2

(1
)

x
3

(
2

x
8

7
x

)
⇔

+
≥

−
+

−
 

2

x
3

x
1

2
(2

x
8)

(7
x

)

2
(2

x
8)

(7
x

)

4
(2

x
8)

(7
x

)

x
11

x
30

0
x

5
x

6
   

 (
**

)

⇔
+

≥
−

+
−

−

⇔
≥

−
−

⇔
≥

−
−

⇔
−

+
≥

⇔
≤

∨
≥

 

(*
) 

v
aø

 (
**

) 
4

x
5

6
x

7
⇒

≤
≤

∨
≤

≤
 


